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1.鋪 哺 輛油 葺
―

:

Explain thc following h brief:

〔) 膏市だヽ 町赫

Unit Ramp Signal

〔i)漱 識 ¬甲
Mason's Gain fomula

〔ii)釧マ田耳ゆuJ含 雨珊 3所ヽ熙可ミ ?

Whatis mcant by tansfer mction?

(iV)『甲 Ψ
Poles and Zcros    '

0慕 諄で締に 諭 哺 哺耐 M嘲 い |

Deme dle Routh由 めility criteriolll. OX助

P.T.0.(l of4)
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2.鋪 奮専下だ 町ヽ、■,4(十 )毎Π TITミ l甲1希 識 ―

『

希赫 喩 慕命 露請` き 1甜さ

'■

,可 ~~『可誦祓 q■いくt画ハ|

Plot the response of unit Ramp input 4(+) of a first order system in a

diagram h fig., Also find the mathernatical expression of response.

3。 缶 電 驀 哺 爾 覇 四 やu■ 輛
lф l賄 Ч

“

f沿"雨謳 詢 l

Find the mnsfer hction ofa givell diagram by block diatt rduction techniquc.

∝ s)=s6+3S5+4S4+6S3+5S2+3S+2

5。 赫 師 四 駆讀
・
司 哉 日 前 珊 載 :

Draw the`Bode'plot ofthe following transfer fmctbn:

glven block

(12)

(12)

生 甲 hf赫 編 調酬 諭魚 π肴論 硼 急 識 嘔 引 鍮 碑 勲

爺 哺 や楡 奮縁 合1ゴ諭 鳥 澪モぼ 魚 てさ1綱到 滅 l

By means ofthe Routh Criterion,detcmine the stability ofthe systan repsmted by

givelll polynomial.For systtn found to bc unstable,flnd the lllo.ofroots&itS location.

(12)

(12)G(S)= (1+〕 )

s2(1+:)(1+島
)
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6.0)市勲剛論T輛 可ミ碑 爺暉勲剛哺 `¶ ttЧ薇 ― l

What arc the basic concepts of systm stability ? AIso explain the relative

stability with example.

(ii)て所蒟
`Ч

lG tt фul`Ч lo可計哺Hf轟訳 3Чも0`く Iで ЧヽきR,満 ― l

Deine and explain with_diapm,血 e galn marr and phase margln。     
“

X2)

7.碇 ―命R赫 珊面円●面 潔,… F:薇轟躙爺 珊国 て習諏 回 劇` 傘

蔦 都 議 lwさ 爛H輛 ヾ 酬 願 椰 颯 詢 |

By using the root locus technique, draw the graph of open loop transfer function of a

feedback system glven below. Also analyse the calculation by using the various

formulas.

k
G(S)= s(s+2)(S+4)
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X3)

(12)

8. ftqwdkqftpqMftfui,
Write the short notes on dre following :

(r) sra*sd
Data L,oggers

(ii) fr.!tr.S.

P.L.C.

(iii) t5rsr

SCADA
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